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2219 204k MATHXZLHAISSESIAH & Xl

A ISR
PSRLH DIO*ODI.=S&%*JIEFZE§(7|
(&t

A

[:}O| AFO%C}I| /HI|3_] Ct (9%@%)
_ _ AN
g . C2(FH) - MEAIY - BHYS Oi] Ao (m‘@OEH Hwm=S2
I X 2D 8,300,000 8,000,000 300,000
JIYBIIES MY DB RS (DY XDt 308,000 8,000,000 A7,692,000
AT SHR 2 (MACHI EHE) (MATHIELAIE 308,000 8,000,000 27,692,000
S35 H)
A ST Z A B2 244,000 48,600 195,400
201 L2299 | 24,000 18,600 5,400
01 AFR2t2/H] 24,000 18,600 5,400
O seznz 15,000,000 * 14l 15,000
O AFACHI] 2tel 95| &gt
90,0008 * 5% « 83| 3,600
O AFHEHX] Ao M2I 2 ¢
90,0002 * 209 * 33| 5,400
401 Al=2HIZ 20| 220,000 0 220,000
01 Al&H] 220,000 0 220,000
O SAFESAAST] AT THoH =B O}
20,000,000 * 14l 20,000
O HMI5YUBHAIICHT] AISEIEYEE ) 29
200,000,000 * 14! 200,000
I 64,000 7,951,400 A7,887,400
801 OflHIHI 64,000 7,951,400 A7,887,400
IR 64,000 7,951,400 A7,887,400
O o] 64,000,000 * 14l 64,000
== Gl 7,992,000 7,992,000
HWEHHXS(MASHREZLAILESASIH) 7,992,000 7,992,000
WEH2NK = 7,992,000 0 7,992,000
704 O Et2 7,992,000 0 7,992,000
01 Gl Er2 7,992,000 0 7,992,000
O SEMELASDIIZ2 HE2
7,992,000,0002 * 14l 7,992,000
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2219 204 sSNPELEL22AILSESH &

A ISR

M J|YBIESA DB L (DI X 1)
el SZONSAN(AASTBEE)(S2UPELYBIAL S (sl ®el)
S BB BRI(SH) - HMRAY - BYS 0l b e R
J1 K& 0t 1,100,000 1,100,000 0
JlgetlE24rd DIt R H (D1 H XA D) 10,000 1,100,000 A 1,090,000
STHASLEXNE (AT 2elg) (s3SI FTdgY 2 10,000 1,100,000 1,090,000
A EE3IAH)
(611}l 10,000 1,100,000 A 1,090,000
801 ollHIdl 10,000 1,100,000 A 1,090,000
01 Zeraiibltl 10,000 1,100,000 A 1,090,000
O ogidl 10,000, 000& 10,000
MRES (ISR ) 1,090,000 0 1,090,000
HEHAHXN S (sSARELHL22IAILEESH) 1,090,000 0 1,090,000
WEAHHX= 1,090,000 0 1,090,000
704 O E= 1,090,000 0 1,090,000
01 WE=2 1,090,000 0 1,090,000

O SEMEAFEIIS HES
1,090,000,000& * 14! 1,090,000
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20219 =0a 22s50IISSEH dH

SN SXEHY
HH: ASOHYDE(SXEHD)
Hel: 2SI (ASS0HIISSEA) (&=1:&8)
SA B S9(S) - HRAY - BES 0f ¢ e HIDEY
SN A 6,200,000 5,667,000 533,000
2 793,008
S 138,776
Al 5,268,216
ABltN YR =(SXE 1) 6,028,880 5,667,000 361,880
2 681,008
S 119,176
Al 5,228,696
2l (AdESHIISSESA) 6,028,880 5,667,000 361,880
2 681,008
= 119,176
Al 5,228,696
A SO HB AR (EF22]) 388,900 494,163 A 105,263
= 305,008
= 53,376
Al 30,516
201 Yer2 | 15,560 15,560 0
= 10,368
= 1,814
Al 3,378
01 AtS2t2 15,560 15,560 0
O 2zs0 822 MAE S
10,000,000& » 14 10,000
= 6,400
= 1,120
Al 2,480
O 2gz2=0 MFEE3 78 3,000,000 * 14 3,000
= 1,920
S 336
Al 744
O 2zs0aodds 28 =<
90,0003 * 2% * 23 360
= 288
S 50
Al 22
O 2A=2=0s ZeE)| SX=
2,200,000& = 1 2,200
= 1,760
S 308
Al 132
202 04H| 23,340 23,340 0
= 14,640
= 2,562
Al 6,138
01 =W ol 21,840 21,840 0
O ggzs0 g8
20,0003 = 7% » 13 * 123 21,840
= 13,440
S 2,352
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S
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M
40
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ton

ir
x

Hlw

Ol
N

CEE L O(3) - HRAY - BES 0l & o4

L= pal

A
2

Al 6,048
S04l 1,500 1,500 0
O 2telAb w=Hl 1,500,000 14 1,500

1,200
210
90

05

Z HnH

307 212tol & 350,000 455,263 A 105,263
280,000
49,000
21,000

Z N H

01 22l 350,000 455,263 A 105,263
O 2A==0 YHl S 350,000,000 * 1 350,000

280,000
49,000
21,000

Z HnH

QZSHXXHMEAEER(HUAZE2XIR) 270,000 300,000 230,000
216,000
37,800
16,200

Z N H

301 LEEN = 270,000 300,000 230,000
216,000
37,800
16,200

Z N H

01 At 2 H==0ll= 270,000 300,000 30,000
O Zoe=2&d2 2 270,000,000& * 14 270,000
216,000

37,800
16,200

Z HnH

SZSHANXNHMIMEZT (HLMHERTEIXA) 200,000 200,000 0
160,000
28,000
12,000

Z N H

301 LEEN = 200,000 200,000 0
160,000
28,000
12,000

= W

01 A3 2 H==0ll= 200,000 200,000 0
O A& Xd SHHX
200,000,000& » 14 200,000

160,000
28,000
12,000

Z N H

OIS S AHALS 5,169,980 4,532,837 637,143

308 XX SHHSOIE 5,169,980 4,500,000 669,980

07 [XSHM2RE 3 5,169,980 4,500,000 669,980
O d=30HAIRE=S 5,169,980,000& » 14 5,169,980




SN SXFMY
) HY2IZH(SXFAY)

SRR EEEMIEEENPIEEEERT (=ERE
SA B S9(S) - HRAY - BES 0f ¢ e HIDEY
AY2IFH(SNFHD) 171,120 0 171,120

= 112,000
S 19,600
Al 39,520
lERAH(AE=S00I=SL3H) 171,120 0 171,120
= 112,000
S 19,600
Al 39,520
el =gyl 171,120 0 171,120
= 112,000
= 19,600
Al 39,520
101 1A4H] 171,120 0 171,120
= 112,000
= 19,600
Al 39,520
03 RIANZZ2NE S 171,120 0 171,120
O 2dzz0{2elAt 21|
140,000,000& = 14 140,000
= 112,000
S 19,600
Al 8,400

O dzs0aelAl EE+E E A2 4|
*

31,120,000& = 14 31,120
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SN ERESHHAYSAC
HE: ERSHMHAY (STESHMEAYFA)
el SRSSUEHZANLAML (SRS AL AL SE ) (&=1:&8)
= - Pl
S - EH - 9(B) - HEANY - BES of & o4 i HImE2
EASEHHAE T 9,000,000 50,000,000 241,000,000
ERSEUHAHE (SR SEUHAGB ) 9,000,000 50,000,000 41,000,000
ETPSSUEHTANLAS (SR SEUET AL AL S 9,000,000 50,000,000 41,000,000
231)
SRS HH TAHEAY =& 9,000,000 50,000,000 41,000,000
401 Al HIR SO 9,000,000 50,000,000 241,000,000
01 Al&ZH] 8,400,000 50,000,000 241,600,000
O ERZEME TAMLAY
8,400,000,000& * 124 8,400,000
02 Z 2 600,000 0 600,000
O EFSSHE TAIHE AL
600,000,000 = 14] 600,000




= A
Hl = 0l & AF Y &5 M A
20219 = 20 SAMMEESH A
SN ZAITHA D
HEH: TAZEIEr S (ZAITH A4 1)
S TATHMSLEAML(FEAILE )N (SAITHESESA (& &)
= Az . CLO| (5 SAIY - HAS oH dEE =
- S l_|'-,—|(2|)") k” Al’t:l o—| 0:"&—1 0:"&.0“ H|DL3D
S ALRH A4 Df 18,400,000 10,533,000 7,867,000
iy 7,900,000
= 2,382,000
Al 4,318,000
H 3,800,000
SAEED| SRS (S AITHAH D) 18,360,000 10,533,000 7,827,000
iy 7,900,000
T 2,382,000
Al 4,278,000
TH 3,800,000
CEANTHM AL (FEALEN (A THAESE S AH) 18,360,000 10,533,000 7,827,000
iy 7,900,000
= 2,382,000
Al 4,278,000
H 3,800,000
AN FE A 8,550,000 4,952,000 3,598,000
iy 2,610,000
= 522,000
Al 1,618,000
TH 3,800,000
201 LBt 3Y| 20,000 0 20,000
01 AFR22IHI 20,000 0 20,000
O g8, 2t ¢ s 20,000,000 4l 20,000
308 AXSHMSO0IH 40,000 0 40,000
11 SI2SHHeHE & X IEAI I 40,000 0 40,000
O SAMMSAEIALH 2
40,000,000 Al 40,000
401 AlEHIL 2 0HHI 2,437,000 0 2,437,000
iy 1,210,000
= 122,000
Al 1,105,000
01 A& HI 2,432,000 0 2,432,000
O HIANAH REAMY =4
2,432,000,000& Al 2,432,000
iy 1,210,000
T 122,000
Al 1,100,000
03 Al 2 THYI 5,000 0 5,000
O AN&EEZE018I 5,000, 000& 4l 5,000
402 212t KHE01 M 410,000 0 410,000
01 QIZIN 2 AIS 2 = (RE &) 410,000 0 410,000
O g2l XA 410,000, 000& Al 410,000
403 XSS AAH201H 5,643,000 4,952,000 691,000
s 1,400,000
= 400,000
Al 43,000




A

S AITH 24 1t

M TALEIGILE(ZAITHA D)
Gl SAHMESIMS(FEMLE)N(SATHESES A (Sl &)
- = — PSIEl
- S2I(32) - MISAY - BAS 04l &k o i HIRE
Al 3,800,000
02 2J/2S0UE =X S AL Y| 5,643,000 4,952,000 691,000
O ZAME=EdH &4
5,643,000,000& * 14l 5,643,000
s 1,400,000
o= 400,000
Al 43,000
T 3,800,000
a2 A 4,510,000 3,381,000 1,129,000
s 1,390,000
o= 520,000
Al 2,600,000
201 YEr2 | 20,000 0 20,000
01 At 22l HI 20,000 0 20,000
O g8, 20 =g & 20,000, 000& 20,000
308 XX SOIA 147,000 0 147,000
N 3J2SHUetEaEASAIS I 147,000 0 147,000
O 8EXNJMEH 28 & 147,000,000& * 14l 147,000
401 Al & HIZ 2 0HHI 4,293,000 3,351,000 942,000
Fas 1,390,000
= 520,000
Al 2,383,000
01 Al£HI 4,258,000 3,351,000 907,000
O gd X+ wEAMY =4 4,258,000,000& 4,258,000
s 1,390,000
< 520,000
Al 2,348,000
02 Zeldl 30,000 0 30,000
O Zeldl 30,000,000& * 1A 30,000
03 AIE=20HHI 5,000 0 5,000
O A& 5,000,000& * 14l 5,000
402 2I2bXHE01 & 50,000 0 50,000
01 QIZErE AL EE (AT ) 50,000 0 50,000
O d=xclXE A 50,000,000& * 1Al 50,000
SHAA7EAS 1,460,000 1,800,000 340,000
s 700,000
< 700,000
Al 60,000
201 YEr2 | 20,000 0 20,000
01 At 22l Hl 20,000 0 20,000
O g8, 20 =g 8 20,000, 000& 20,000
308 XX SOIA 140,000 0 140,000
Fas 100,000
Al 40,000




SAMT S AITHA D

M TALEIGILE(ZAITHA D)
Gl SAHMESIMS(FEMLE)N(SATHESES A (Sl &)
SA - FE - SRA(B) - MRAY - BES 0l ey e HRE

N 3J2SHUeZEaEAS AL S I 140,000 0 140,000

O dEXNHH 2 S 140,000,000& 140,000

P 100,000

Al 40,000
401 Al HIZL 20| 1,300,000 0 1,300,000

P 600,000

< 700,000
01 Al£Hl 1,300,000 0 1,300,000

O sZX+=EAMd =4 1,300,000, 000& 1,300,000

s 600,000

o= 700,000
oA NS A X7 3,840,000 0 3,840,000

s 3,200,000

o= 640,000
402 QIZH X201 A 3,840,000 0 3,840,000

Fas 3,200,000

< 640,000
03 212+ E AL I 3,840,000 0 3,840,000

O ZAHESEAMT RS 3,840,000, 000& 3,840,000

s 3,200,000

o= 640,000
MPES (A A1) 40,000 0 40,000
SBEIE(SAHYEESSH) 40,000 0 40,000
SEXNES(SAIHESESIA) 40,000 0 40,000
311 Xt SOl KFAHE 40,000 0 40,000
02 St=a 82X S0l KtakE 40,000 0 40,000

O XYM Xd= Ol Xtae 40,000, 000& 40,000
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20219 20A SADEAASHSH A
S2M: NEXMY
H: He|stnSSAXL(NSEM)
G CADNSHH(NERME ) (TADSALELSN) (2 &82)
_ _ _ A L
M- .2 (3H) - HMEAMNY - HES Ol &H2H OTE& HunszZ
WEXM 17,976,638 14,391,338 3,585,300
HEStNESAXT S (DEXMD) 12,138,638 14,391,338 A2,252,700
SARNEHH(REFHHE ) (TANLUSAISSESIAH) 3,000 3,000 0
CADEAY LA 24 3,000 3,000 0
201 22| 3,000 3,000 0
01 AL 22IH| 3,000 3,000 0
O 2Bt2H 3,000
- NEDY M2 22 S
150,0002 * 10 * 23] 3,000
CADESHX(DEAMNLEN(TAIDSAIAELS ) 6,158,118 12,401,938 16,243,820
WECHMAI LA X EH| 2,109,680 2,152,980 243,300
201 22| 232,000 125,420 106,580
01 AL 22IH| 14,840 27,840 13,000
O 2Bt2H 11,000
- DEQIMEZ E8 #4540t
100,000 * 10IHA = 33 3,000
- OEl0I gt EXEE(eX=2 5) 7Y
400,000 * 2000 A 8,000
O = 3,840
- DEASAGZE &) 2 ARFZ
8,000 49 » 10 » 128 3,840
02 Z=22YH| 217,160 97,580 119,580
O DEANE(UIIEZ, S=ItHet) IS
10,0008 * 8704 * 12% 10,440
O ROINEHGEIH SRS
30,0002 * 82CH » 12 29,520
O SONSSH=ZH HIIHA
2,100,0002 * 82LH 172,200
O 9ZXSHiA B8 X822
500,000 * 103] 5,000
202 04 H| 7,680 10,560 A2,880
01 2oy 7,680 10,560 A2,880
O DEQEAIA XXM E
20,0009 * 4% x 8Y x 128 7,680
401 Al H| S| 1,870,000 1,957,000 87,000
01 Al&H] 1,865,000 1,950,000 85,000
O DEQHHAIAE &X(BE22l) 500,000
- SYHI(DSHEIEX, HIEA S)
250,000,000 * 1Al 250,000
- NER(DENHFIX, HIA S)
250,000,000 * 1Al 250,000
O DNECHEAIA DISIALE K2l (SHIHHQE) 300,000
-=dR 150,000,000 * 1Al 150,000




SN DEFMY
M He|stnSSAXL(WSEM)
o TANSSHIA(NSAEE ) (SARSALELES H) (2 &)
- _ - PSIEl
SAH - B (S) - HRAY - BES 0] &k o4 i SmE=ET
- A=+ 150,000,000& = 14l 150,000
O e (ds2al) 600,000,000& * 14! 600,000
O KT DI2AALE M2l (SHIFAH Q) 300,000
-sg7 150,000,000& * 14 150,000
- A=EF 150,000,000& * 14 150,000
O &t £2J] 4X
10,000,000 * 10902 100,000
O 285 F=H HAMX(FOIE0A
65,000,000 * 14 65,000
03 AIE 20H I 5,000 7,000 A2,000
O XM o NECHNMAIE AXI
5,000,000& = 14l 5,000
nWSetMA oo AN L L XIL EHY| 3,123,000 1,600,000 1,523,000
401 AIEHI YL 20HY] 3,123,000 1,600,000 1,523,000
01 A&t 3,123,000 1,600,000 1,523,000
O WSHEAIE oo Ald4gx(ds2eal)
200,000,000 * 14! 200,000
O K&ss &x ¥ Ful(¥s2el)
600,000,000& * 14! 600,000
O sgls)d| gx1(dsaal)
50,000,000 * 14 50,000
O A5d =H HMEHEA 4X|
400,000& * 1009H 2~ 40,000
O R WsH=Etet Xl
38,500,000 * 58742 2,233,000
SRR BME==Jel PPN PSESPNR=PS R ]l 738,000 710,000 28,000
401 AIEHI YL 2CHY] 738,000 710,000 28,000
01 A&t 738,000 710,000 28,000
O ogol, = ZHHIES Y WSt AIL
X ¥ Fhl 500,000
- SHP(LSNHMEX, =HEA S)
250,000,000& * 14! 250,000
- NS (DSUHEX, SHIAl S
250,000,000 * 14! 250,000
O W=ZBAIAE XA
120,000,000 = 14l 120,000
O a2t MDA X &X
16,000,000 * 2JH A 32,000
O BNz=Est & SHET HEUIIEX 4
XI(Z=21F 040l &F) 16,000,000& * 1JHZA 16,000
O 8HEE HHUIIEX FANES
70,000,000 = 14 70,000
ol gl gl 187,438 6,938,958 26,751,520
801 ollBIH| 187,438 6,938,958 26,751,520
01 Btoilgl gl 187,438 6,938,958 AB6,751,520




SN DEFMY
Ha: HoBNSHYTH (DS
SRl CANSSEXN(NSAEE ) (SALSMSSESA) (et & H)
- SlE
S - EH - 9(B) - HEANY - BES of & o4 i HImE2
| O ofulgl 187,438,000 187,438
St 2| (HSXH22E) (A nSAHESE3IH) 5,977,520 1,986,400 3,991,120
XS AL 2tel 224,520 333,400 A108,880
201 2er2 gl 16,840 6,840 10,000
01 Ab=22t el 14,840 4,840 10,000
O git+=ZH 1,000
- SEFXNEELE ST 100,000 * 1042 1,000
O =&l 3,840
- ASAE el NEgE F=A
8,000 = 4& = 102 » 123 3,840
O =&Xt ekt Al 10,000,000 * 14| 10,000
02 523t 2,000 2,000 0
O 3Ses<HMA 2,000
- TYFNLY NERYRLS
1,000,000& = 14 1,000
- SEFEXLE M=+ SHES
1,000,000& = 14 1,000
202 o4l 7,680 10,560 A2,880
01 =Wl 7,680 10,560 A2,880
O NSkt 2elArdet XNt =8
20,0002 = 4% » 8% » 12& 7,680
307 21201 A 60,000 0 60,000
02 It A HE X 60,000 0 60,000
O BEFXE X 20,000,0008 * 34 60,000
308 XXM SOIA 80,000 0 80,000
08 WFI|20CHe 2= 80,000 0 80,000
O 2E=XE WYX 20,000,000& * 4942 80,000
402 212t =01 60,000 216,000 A156,000
01 A2 ALEE(RHHE) 60,000 210,000 A150,000
O REFXE NN 20,000,0008 * 34 60,000
SSEFIE XL 5,753,000 653,000 5,100,000
401 Al HIR SO 753,000 503,000 250,000
01 Al&ZH] 750,000 500,000 250,000
O BYFY R L =4
400,000,000 = 14 400,000
O TYFXE FAWBAILY 25
350,000,000 = 14 350,000
03 AIE 2 THHI 3,000 3,000 0
O AE 20U 3,000,000& = 14 3,000
405 Xhaks S 4| 5,000,000 0 5,000,000
01 MM =S5 S 5,000,000 0 5,000,000




SN DEFMY
I HelgtuSe3rd(nsyH)
celr UGS 2 (ISXH2elE) (A RSMLSESIA) (et & H)
= _ - Pl
S - EH - 9(B) - HEANY - BES of & o4 i HImE2
O SYAAJH =Xted e
5,000,000,000& * 124 5,000,000
Hess(RsSd3) 5,838,000 0 5,838,000
WEREAHHXES (AL SASSESIAH) 5,838,000 0 5,838,000
LHEHHXZ 5,838,000 0 5,838,000
704 OIS 5,838,000 0 5,838,000
01 U&= 5,838,000 0 5,838,000

5,838,000,000& 5,838,000




A HESuSH
M s sS4 I(Hsnsy)
& HHDSHAZe(RSREE ) (SANSMEELESA) (Sl &)
_ - PRl
SA-Z3 . HA(SH) - HEMY - BES Off &4 ‘@EOEH HnsZ
HEswsnt 3,811,810 4,209,310 /397,500
= 540,000
Al 3,271,810
HsnsE 4 N(UWsnSH) 3,780,400 4,177,900 A397,500
= 540,000
Al 3,240,400
BounsHAZ(LSEEBE ) (SALSALESSA) 3,780,400 4,177,900 397,500
= 540,000
Al 3,240,400
NsgusSHAH 2 1,905,400 4,177,900 N2,272,500
201 2er2 | 1,198,000 1,204,500 26,500
02 222l 1,198,000 1,204,500 26,500
O A& & dl= A 1,198,000
- WSESBHEH FEANAE S8 A2l
470,000,000& *» 1 470,000
- NsERsSHA(ITS) S&EH X2t
220,000,000& * 14 220,000
- HAZEAAR(BIS) 8FEH K22
300,000,000& » 14 300,000
- 29UE(RS) ZHI2g 2
10,000,000& * 14 10,000
- WSHUSHA J=2S
198,000,000& * 14 198,000
401 Al HIZL 20| 707,400 2,903,400 A2,196,000
01 AI&HI 702,400 2,898,400 A2,196,000
O ustlss g2t FAE+=3At
280,000,000& * 2JHXI S 560,000
O ITS SEAAEEY 018 & 2I2te
40,000,000& = 14 40,000
O == ASHAHI W
6,400,000& * 16902 102,400
03 A& = HHI 5,000 5,000 0
O AIZ =20 5,000,000& * 14! 5,000
HAZEE A A2 975,000 0 975,000
401 Al HIZL 20| 975,000 0 975,000
01 AI&HI 975,000 0 975,000
O AUHHA =5 28 W
8,000,000& * 60CH 480,000
O HAZSOHUNE DI (BIT) WA ¥ &M
11,000,000& = 45CH 495,000
NSERSHAITS) HUHRSA 900,000 0 900,000
= 540,000
Al 360,000
401 Al HIZ 201 900,000 0 900,000




A HERSD
By HERS K4 N (WSS
oo BODSHH2(RSYEY)(TADSAESES ) (Er9: @8
_ — &
FA -3 SA(A) - HRAEY - HES Off &4 ‘@EOEH Hunsz
= 540,000
A 360,000
01 Al&ZH] 900,000 0 900,000
O NSEDESMH(ITS) HUTSAY 11
900,000,0008! * 14| 900,000
2 540,000
Al 360,000
HERSSLNS(HERSD) 31,410 31,410 0
HERESH(HEREL)(TARENLS L) 31,410 31,410 0
ST ONELE 31,410 31,410 0
201 Yt | 18,210 18,210 0
01 AFR22IH] 7,000 7,000 0
O git+=ZH 2,200
- NYEXSH HRoE MY S2A N
300& = 4,0000H 1,200
- NYERNET BEZ(BHE) DNA M
500! * 2,00000 1,000
O ) 4,800
- NYE SR NSEE =3
8,000&  5& » 102 » 128 4,800
02 222 1,210 11,210 0
O B2232 2 HAl 2,210
- 92R% SMID| AEE
40,0002 = 2CH = 123 960
- HEXEg 288 S 625,000& » 204 1,250
O Trauty 9,000
- NYERST SHXY KX
4,500,0008! * 204 9,000
202 04H| 13,200 13,200 0
01 =Wl 13,200 13,200 0
O MZEXSH XSS =7
10,0008 * 5% * 222! * 128 13,200
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